N = 0l & At & Ml A

2021E . =0 &k LESAH NHBE ~ nBS

2M: 0H33
ol &

B F0 ¥F MO C2(2IS)
el MEANHIA B3 (2EE) (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
IR = 386,313 358,029 28,284
F0 WY B S2(2EF) 329,503 307,449 22,054
HEAMHI A 23 (HES) 329,503 307,449 22,054
HEASARA 29 329,503 307,449 22,054
101 @14 dl 20,600 15,400 5,200
4 D12t ZE2XREES 20,600 15,400 5,200
OZArEd EHl =2 7,200,000 7,200
OEdz S 1,000, 000& 1,000
O =Xz 2 HAr2te 22 7,200,000 7,200
OFHECZH, SH32 S3&H & M=
5,200,000 5,200
201 LBr2 Y| 71,940 73,940 ~2,000
01 At 22l 22,850 24,850 A 2,000
OB =+=EH| 14,350
o FUSE XNIMHA 422 S 4,762,000 4,762
oMNRES S 7¢ 6,265,000 6,265
o HASANRA 2 2,323,000& 2,323
o BAL AIEZEE 2HEEHI 1,000,000& 1,000
O= &l 3,500
o8& gRFd 3,000,000 3,000
o A3 =X FRFZ 500,000& 500
[ DR NE= 5,000
o228 A4 FH X 5,000,000& 5,000
02 =224l 44,690 44,690 0
O=323LHA 34,908
o M B22=LHA 33,748,000& 33,748
o AFEFENXNY 2 ¥ AHANBO 2=
1,160,000 1,160
[ DRSal=aa] 1,000,000 1,000
OAl & ZEHl S Xl 5,482
o ALY HAH| 1,000, 000& 1,000
o A€ & IS Xl 4,482,000 4,482
OXHE & B 3,300
o XFE=AXNE RAHI 3,300,000 3,300
03 A2 Z Hl 4,400 4,400 0
OL7E AL =& 1,400,000& 1,400
oSt g &N s F& 3,000,000& 3,000
202 4l 2,673 3,819 21,146
01 = LH YI 2,673 3,819 21,146
OUISANEL 29 2,073,000& 2,073
OA HHEH 2= 600,000& 600
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N = 0l & At & Ml A

SN S
M 0l #E HO TR(ZaD)

ol HEMHA 2 (F4H) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=4 421,478 406,761 14,717
F0 MY B SR(F4H) 375,958 359,041 16,917
HAE MU A 23 (FaH) 375,958 359,041 16,917

SUHHARS 29 375,958 359,041 16,917
101 @14 dl 19,778 19,778 0
4 D12t ZE2XREES 19,778 19,778 0

OZArEd EHl =2 7,200,000 7,200
Oz3z2e e2ey 5,789,000& 5,789
OZ22M=HY o2 5,789,000 5,789
OE8z S 1,000, 000& 1,000
201 L2l 71,413 73,413 A 2,000
01 At 22l 21,950 23,950 A2,000
O2E==EH| 11,650
o FRUSE N2MH ALF 2,658,000 2,658
oMRES S 7¥ 6,049,000& 6,049
o SMBAERL 29I 2,943,000 2,943
O= &l 4,000
o HE HRFX 3,500,000 3,500
o AtSI=EX FRFZ 500,000& 500
[ DR NE= 6,300
o224 ¥ DAZA Z2AXTH FHUlYXt
3,300,000 3,300
o228 A4 FH X 3,000,000& 3,000
02 =224l 44,463 44,463 0
O=323LHA 36,163
o M B22=LHA 35,003, 000& 35,003
o AFEFENXNY 2 ¥ AHANBO 2=
1,160,000 1,160
[ DRSal=aa] 1,000,000 1,000
OAl & ZEHl S Xl 4,000
o FAb el HAH 1,000, 000& 1,000
o A€ & IS Xl 3,000,000 3,000
OXHE & B 3,300
o XFE=AXNE RAHI 3,300,000 3,300
03 A2 Z Hl 5,000 5,000 0
OL7E AL =& 2,000,000& 2,000
oo ¢ A S FILA 24 3,000,000 3,000
202 4l 2,527 3,610 A 1,083
01 = LH YI 2,527 3,610 A 1,083
SMHHARA 29 1,527,000& 1,527
OS4H oty 2= 2 500,000& 500
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N = 0l & At & Ml A

2021E . =0 &k LESAH NHBE ~ nBS

M EXE
FM: =0 Y HO T2 (EXY)

ol HEMHA 2 (SERH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=Nl 427,498 406,984 20,514
F0 MY B SR2(8XY) 374,938 356,584 18,354
HAYAMHI A Z3(EXH) 374,938 356,584 18,354

ENHARE: 29 374,938 356,584 18,354
101 @14 dl 14,965 13,465 1,500
4 D12t ZE2XREES 14,965 13,465 1,500

OZArEd EHl =2 7,200,000 7,200
OAtEHSE Z3 2e| o2y 3,895,000& 3,895
OExI M Hel efH 2,912,000 2,912
OEE = 958,000& 958
201 L2l 108,720 110,720 A 2,000
01 At 22l 30,435 32,435 A2,000
O2E==EH| 14,435
o =USE XNEMH 2238 S 4,000,000 4,000
oMRES S 7¥ 6,650,000& 6,650
o EXNBHAEL 29 3,785,000 3,785
O= &l 4,000
o HE HRFX 3,500,000 3,500
o AtSI=EX FRFZ 500,000& 500
[ DR NE= 12,000
o224 ¥ DAZA Z2AXTH FHUlYXt
7,000,000 7,000
o228 A4 FUIIX 5,000,000& 5,000
02 =224l 73,485 73,485 0
O33R LAA 66,019
03ER= 43,859,000& 43,859
o OtSdt=XMelE MIIL3 21,000,000& 21,000
o ¥FE=EANXE 2d ¥ AEXFTOI 2=
1,160,000 1,160
OAl & ZEHl S Xl 4,166
o FAb el HAH 1,000, 000& 1,000
o A€ & IS Xl 3,166,000 3,166
OXHE & B 3,300
o XFE=AXNE RAHI 3,300,000 3,300
03 A2 Z Hl 4,800 4,800 0
OL7E AL =& 1,800, 000& 1,800
O & A HRFA 3,000,000 3,000
202 4l 2,673 3,819 21,146
01 = LH YI 2,673 3,819 21,146
OSXNHARE: 29 1,343,000 1,343
OA HHEH 2= 570,000& 570
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A & 0l & A & F Al
20219 = S0l& LB 2HES ~ WES
SN W
M 30 #E MO TO(H7E)
crel SESER-TEEL-) CERED
BB - Sl (31) - NRAY - BES Ol &+ o4 SSa HmEET
ot 391,710 368,019 23,691
= HOl T R(WH) 344,050 322,479 21,571
| A 23H(ee) 344,050 322,479 21,571
ML 2F 344,050 322,479 21,571
101 @14 dl 12,060 12,060 0
4 D12t ZE2XREES 12,060 12,060 0
OZArEd EHl =2 7,200,000 7,200
OHIZAZH AIZ22 S 1,930, 000& 1,930
OLX M I1Hel 1,930,000 1,930
OE8z S 1,000, 000& 1,000
B2 H I 76,243 78,243 A 2,000
At 22|l 23,060 25,060 A2,000
O2E==EH| 11,108
o MNRES S 7¢ 5,000,000& 5,000
o =USE XNEMHA 422 S 4,130,000& 4,130
o WABAIREA 29Y 1,978,000 1,978
O= &l 3,500
o HE HRFX 3,000,000& 3,000
o AtSI=EX FRFZ 500,000& 500
[ DR NE= 8,452
o224 ¥ DAZA Z2AXTH FHUlYXt
5,452,000 5,452
o228 A4 FH X 3,000,000& 3,000
3224l 48,383 48,383 0
O=323LHA 38,030
0 23222 HA 38,030,000& 38,030
[ DRSaR=aa] 2,783,000 2,783
OAl & ZEHl S Xl 5,170
o FAb el HAH 1,000, 000& 1,000
o A€ &l Xl 4,170,000 4,170
OXsE=NTE R 2,400,000& 2,400
A2 H I 4,800 4,800 0
OLA2 AL =& 1,800,000& 1,800
0o & A 5 FXH 3,000,000& 3,000
(0211 2,587 3,696 A 1,109
=LH O 2,587 3,696 A1,109
OHRATEANRL 2 1,661,000 1,661
OHH AR 520,000& 520
OA HHEH R 406,000& 406
301 LA F 202,160 197,480 4,680




SN s
HE: 30 #EH MO T2(MP)
3 ES )

Sl #HAY

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
0BCSHE -0 -EHEESEMN= 200,160 195,480 4,680
o2+ 300,000 x42H x12& 151,200
O&0 23 300,000& *42H *200% 25,200
OFEASE 20,000& *42H x 128 x23| 20,160
| DRl PSS =y 50,000& x724H 3,600
09 HALAHIXI &= 2,000 2,000 0
OF0 1} St AH(HZS2) BT 24
2,000,000 2,000
401 Al B 20 HI 50,000 30,000 20,000
01 A& HI 50,000 30,000 20,000
OMEDRKHe 50,000,000 50,000
405 XH&HF SHI 1,000 1,000 0
01 AL 2 EF SHI 1,000 1,000 0
OARa HS 7Y 1,000,000& 1,000
HHSHAHY (PR H) 47,660 45,540 2,120
2y (e¢HaH) 47,660 45,540 2,120
Jl2dy(H3H) 47,660 45,540 2,120
201 et A | 1,860 1,860 0
01 AFR2t2ldl 1,860 1,860 0
[ DRERI =] 1,860
o It EH =2 120,000& 120
o RolZHEd &2yl 1,740,000& 1,740
202 04| 34,560 32,400 2,160
02 EHN Y| 34,560 32,400 2,160
O I 180,000& x16H x12& 34,560
203 & R =&H| 11,240 11,280 AN40
01 J|22HLRF=AH| 7,000 7,000 0
OHP2HEY 7,000,000& 7,000
02 HRJAE R =&Y 640 680 N40
L 40,0002 =164 640
04 2SI L RF=AH| 3,600 3,600 0
O¢PH 300,000& x12& 3,600




N = 0l & At & Ml A

2021E . =0 &k LESAH NHBE ~ nBS

S 2HH
M 3o #E MO TQ(LE)
Cel HFMHIA 2 (REYH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o 307,924 290,792 17,132
MY HO T R(RHH) 265,084 247,952 17,132
AEIA 238H(22s) 265,084 247,952 17,132
ZSHARA 29 265,084 247,952 17,132
101 @14 dl 11,095 11,095 0
4 D12t ZE2XREES 11,095 11,095 0
OEAMNESZEY =2 S 7,200,000 7,200
OgxI A2 I1Hel 2,895,000& 2,895
O2E= 1,000,000 1,000
201 Lt 2| 69,049 71,049 £2,000
01 At 2teltl 23,060 25,060 A 2,000
[ DRIt =]l 10,560
o =USE XNEMHA 422 S 2,960,000 2,960
o MNRES S 7¢ 6,279,000 6,279
o RPHHARL 29 1,321,000& 1,321
O=&l 3,500
o HAE FRFA 3,000,000& 3,000
o AMt2I=X HRFH 500,000& 500
[ DRIN A= 9,000
oth+=2&4 Y DARA Z2AXH FH X
6,000,000& 6,000
o228 A4 FH X 3,000,000& 3,000
02 =24l 41,789 41,789 0
O=323LHA 30,607
o XEE =SAXE 29 & AN 2=
1,160,000& 1,160
o B32=aXAHA 29,447,000 29,447
OA=Hl 3,972,000 3,972
OAEZHI S X 3,910
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N = 0l & At & Ml A

2021E . =0 &k LESAH NHBE ~ nBS

fAMN: ot
FM: =0 HEY HO T2 (HGHH)
¢hel: HEMHIAZSH(EHoHH) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Aot 306,321 289,313 17,008
F0 MY B SR2(FH5HH) 263,661 246,653 17,008
HAYMH AZSH(HGIH) 263,661 246,653 17,008
HotHARAR2Y 263,661 246,653 17,008
101 @14 dl 11,577 11,577 0
4 D12t ZE2XREES 11,577 11,577 0
OZArEd EHl =2 7,200,000 7,200
O3 FA 22 3,377,000& 3,377
O2EE S 1,000,000 1,000
201 Let24d] 63,130 65,130 A 2,000
01 At 2teltl 20,970 22,970 A 2,000
[ DRIt =]l 11,970
oMRES S 7¥ 10,000, 000& 10,000
o HotHAIRA 29 970,000& 970
o BAL NEEE 2tE FH 1,000, 000& 1,000
O=&l 3,500
o HAE FRFA 3,000,000& 3,000
o AMt2I=X HRFH 500,000& 500
[ DRIN A= 5,500
o A= 5,500,000 5,500
02 =224l 37,960 37,960 0
O=322<LHA 28,160
=== a=2= D\ W] 27,000,000 27,000
o XFEH=ENXYE 2F L AEXTOI 2=
1,160,000 1,160
OA=H| 1,500, 000& 1,500
OA&EHl =Xl 5,000
o AL UHel¥ FHAH 1,000, 000& 1,000
o Al ZHIS Xt 1,000, 000& 1,000
o AE=2=E MHEL & SIEEHE R
3,000,000& 3,000
OXHE & B 3,300
o XFE=AXNYE KA 3,300,000& 3,300
03 & AL2 I 4,200 4,200 0
OLA2 AL =& 1,200,000& 1,200
0o & A 5 FXH 3,000,000& 3,000
202 oddl 2,314 3,306 A 992
01 = LH o4 1l 2,314 3,306 A Q992
OZOIEAR L 29 1,383,000 1,383
OFotH PR 361,000& 361
OA HHEH 2= 570,000& 570
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A - -G (3A) - A - BES Off &t 24 %Ei Hns2
301 LetE2H = 135,640 135,640 0
058 -0 -t¥8s24= 133,640 133,640 0
o2 300,000 »28H «12& 100,800
0do= 300, 000& »282H x200% 16,800
03l 4 20,0003 282 128 »23] 13,440
L DACIESE sy 25,0003 x52H 23] 2,600
09 AL HIXIE = 2,000 2,000 0
OF0 1 SIHAH(AZYR)EAT B4
2,000,000& 2,000
401 AIEHIZ 2 THYI 50,000 30,000 20,000
01 A& HI 50,000 30,000 20,000
OdEAXel 50,000,000& 50,000
405 TtobH S| 1,000 1,000 0
01 AL ESFH SH 1,000 1,000 0
OAR 2 HE 2¥ 1,000, 000& 1,000
HH2HZHI(HotH) 42,660 42,660 0
Jl2ddl(#5he) 42,660 42,660 0
28t (H5he) 42,660 42,660 0
201 fEt2E | 1,860 1,860 0
01 ArR2t2ltl 1,860 1,860 0
OB =8l 1,860
o MIIHHAA =2 60,000& *22| 120
o felFHIEH 2l 145,000& ~12& 1,740
202 o4 Hl 30,240 30,240 0
02 A0t 30,240 30,240 0
O3 XY 180,000 x14E 123 30,240
203 R =& 10,560 10,560 0
01 J1Z2g g2 7,000 7,000 0
OFotHE 7,000,000& 7,000
02 3 Jtatg R =& 560 560 0
O&otH 40,000 =14 560
04 EAEEY R 3,000 3,000 0
O&otH 250,000& ~12& 3,000
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N & o & AF & H Al A
20219 = S0l& LB 2HES ~ WES
=M 370
HE: Fo #E Ho £
SRl BIMNHIAYSHSTO) CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=7 427,558 404,699 22,859
=2 Y Ho &2 379,898 359,199 20,699
HYMH AL (S PH) 379,898 359,199 20,699
STHASRA2Y 379,898 359,199 20,699
101 @14 dl 15,400 15,400 0
4 D12t ZE2XREES 15,400 15,400 0
OZArEd EHl =2 7,200,000 7,200
O3 FL 22 7,200,000& 7,200
O2EE S 1,000,000 1,000
201 Let24d] 88,508 91,861 A 3,353
01 At 2teltl 25,707 29,060 A 3,353
OZEt==EH| 9,356
o FUSE NE2XMHA A2 3,900,000& 3,900
o MNRES S 7¢ 3,107,000 3,107
0 3THHARL 29 2,349,000& 2,349
O=&l 4,847
o HAE FRFA 3,147,000& 3,147
o MEZA 1,200,000 1,200
o AtSI=EX FRFZ 500,000& 500
[ DR NE= 11,504
otl==2F4 ¥ ZAZA T4 ZHYx
6,504,000 6,504
o228 A4 FHl X 500,000 «10CH 5,000
02 =224l 58,001 58,001 0
O=323LHA 48,201
02222 % MA 48,201,000& 48,201
[ DRSaR=aa] 1,829,000 1,829
OAE ZHl =X 4,271
o FAb el HAH 1,000, 000& 1,000
o A& & Hls X gl 3,271,000 3,271
O Xt & B 1,500
o A&FMEH (H ) 1,500,000 1,500
OXsE=NXE RAYI 2,200,000& 2,200
03 &Ar2 I 4,800 4,800 0
OLA2 AL =& 1,800,000 1,800
0o & #A S F&H 3,000,000& 3,000
202 oddl 3,360 4,038 AB78
01 = LH o4 1l 3,360 4,038 AB78
O7HAR: 29 2,790,000 2,790
O3278 AP RFA 300,000& 300
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SN 27e
HE: Fo #E Ho £
CHol MEMHIAYSH(22D) CERED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OMISHHEH JRFA 270,000 270
301 dEtE X = 221,630 216,900 4,730
0BCSHE-0/&-EtEes8A3 219,630 214,900 4,730
Ol 300,000& x46H x12& 165,600
O4NZ2 300, 000& *46X *200% 27,600
O3 &85 20,0003 *46H x12& 23] 22,080
OBt 50,000& *87H 4,350
09 HALAHI X &= 2,000 2,000 0
OFUD SLSBA(HZYR) FAT 24
2,000,000& 2,000
401 Al HI YL 2 0HHI 50,000 30,000 20,000
01 A& HI 50,000 30,000 20,000
OMEDR K 50,000, 000& 50,000
405 XtabF S| 1,000 1,000 0
01 AL 2B F SHI 1,000 1,000 0
OAIR4 HES 7Y 1,000,000& 1,000
HHSHAY (S 7H) 47,660 45,500 2,160
Jl2dl(8+H) 47,660 45,500 2,160
@bl (2329) 47,660 45,500 2,160
201 LEt2 Y| 1,860 1,860 0
01 AR 22| I 1,860 1,860 0
O +=24| 1,860
o MIIHEABA =2 60,000& 23] 120
o RolZHlEd &2yl 145,000& = 12& 1,740
202 (4] 34,560 32,400 2,160
02 AN Y 34,560 32,400 2,160
O2 A0l 180,000& x16H x12& 34,560
203 ¥R =&Y 11,240 11,240 0
01 J|229 P RE=XY| 7,000 7,000 0
O271HE 7,000,000 7,000
02 E RO R =AY 640 640 0
0274 40,000& x16H 640
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